New ASSEMBLY INSTRUCTIONS

%?ﬁ%l,g ITEM NO: B322-310 Stafford County 5/0 Q Headboard
ITEM NO: B322-328 Stafford County 5/0 Q Storage FB & Slats
ITEM NO: B322-330 Stafford County 5/0-6/6 Q/EK Side Rails

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts,
which may have come loose inside the carton during shipment. Identify and count all item and compare with
the parts list and/or hardware list shown below.

PARST LIST HARDWARE

NO. Description Sketch | Quantity NO. Description Sketch | Quantity
1 | Headboard % 1pc A | @5/16*2" Allen Bolt  |(())mmmmm | 8pcs
2 | Right Headboard Leg JE— 1pc B | ©5/16 Lock Washer & 3pcs
3 | Left Headboard Leg 1pc C |@5/16*3/4" Flat Washer 8pcs
4 | Headboard Rail | 1pe D | M4 Allen Key | lrc
5 | Footboard g/ 1pc E | @8*1-1/4" Screw > 26pcs
6 | Side Rail S| 2P
7 | Long Slat Support Leg = 6pcs
8 | Roll-Out Slat s | Lset
9 |Footboard Storage Support Leg| 2pcs

Adjustable leveler

MADE IN VIETNAM 10F2




[72]
T ©
n 'S
&R
[«B]
.WBd
s P
b@K
SEU
o200
HSm
QQR_V
oo
o RTolYS
> >

ASSEMBLY INSTRUCTIONS

New
Classic' |
FURNITURE I




	AIS-B322-NEW CLASS Model (1)
	AIS-B322-NEW CLASS Model (1)

